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4) f(x)=x*-1,x=y+1

5) f(X)=(x+y+z)(Xy+yz+Xz)-Xyz , X=-y
6) f(X)=x'+x*+1, x=+/2

7) f(ab)=(a+b)’ ,a=2,b=-3

8) f(a,b)=a’+3a’h+3ab*+b® ,a=2,b=-3

9)f(&bp):(a+b+cﬂaz+b2+c2—ab—ac—bc),a:2,b:1,c=—3
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10) f(ab,c)= urlF ol ,a=4,b=-4,c=-3
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H)f(&bpﬂ):(aﬂc ,a=10 ,b=d=2,c=3

a+b+c

I)S=Jp(p—axp—bﬂp—c)caprx,uauapp: , c=10,b=8,a=6 s1(12Js
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Jobs sl (a+2)” +(b-1)" =0 51 (13Jke
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) Jools il (a—4b)” +(b-2c) =0 ;51(14J%
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S dlie g 3yl oty a=10 il 41, 28° 4 (2a)° ol g5 eoue e (15 Lo

38 ey [ B2+ C(AB+B)[” el ol il C gSas B 5 B a5 A 351 (160
Sl jaiy F(=3) Jhio cual f (1)=74f (x)=ax?+x +4 31(17J%

a8 Cluo |y f(x —1) sl £ (x)=1-2x 51 (18

gl sty F(1)= F(=1) Jobasl f(n)=f(n-1)+4n° 51 (19t

Saygl sty 1y F(X) il f(x+2)=3x-1 31(20Jls

S8 a1, f(x—%) sl f(x)=x2+2 51 (21 %



